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Mohit.. 18 hours ago

Thank-you Sir for this very Amazing and Wonderful Class Session.. _, =

And

My Answer for today's Homework is-
Option A ==23%.

As,

Overall fail ; 42% + 52% — 17% == 77%.

Total Pass == 100% = 77% = 23%.
100

Thank-you So Much, Sir Ji.. = _,
Show less
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Maths by Naeem sir 17 hours ago

Thanks for you sir the last question answer.. 32%
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:-HW. In an examination, 42% students failed in mathematics
and 52% failed in Science. If 17% failed in both the subjects,

find the percentage of those who passed in both the subjects?
Ueh UHIT H 42 % Terameft iuta | 52% feremnef o= § sawd |d

21 A 17% T Foat § 10w T @ ar 34 feafer st ufave

T A AT ST forerat & weT 35U o
(A) 23
(B) 24
(C) 25
(D) 26
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Q:-1. In what time Rs. 2400 with amount to Rs. 2646 at 5% p.a. compounded

annually?

foha THa | 2400 F. ST GARRT 5% AT Ashelleg SATS hl & WX 2646 F. B
HATTIAT?
(A) 2 years/a'é

B)3 years/?slﬁ
(O years/a'é
)RES years/a'ﬁi‘




Q:-1. In what time Rs. 2400 with amount to Rs. 2646 at 5% p.a. compounded
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Q:-2- A, B, C start a business. If A invests 3 times as much as B invests
and B invests two — third of what C invests, then the ratio of capitals of
A,B,Cis -

A, B, C U SATIR AT I 1 TS A, B o FHE91 &1 3 771 Fawr sxar @
AR B, C & o917 Y- faets v sar g v A, B, C i Uit &1 1T
FATE?

(A)3:9:2

(B) 6: 10: 15

(C)5:3:2

(D)6:2:3
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Q:-3. A single discount equivalent to three successive discount of 20%,

25% and 10% 1is -

T ST DT 20%, 25% 3R 10% & THTT Thel BE 1 -
(A) 55%

(B) 50%

(C) 46%

(D) 48%




Q:-3. A single discount equivalent to three successive discount of 20%,

25% and 10% 1is -

T ST DT 20%, 25% 3R 10% & THTT Thel BE 1 -
(A) 55%
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(D) 48%




Q:-4. A sum of money doubles itself in 8 years. What is the rate of

interest?

ek TIIT 8 TNT H 10T ATT G BT ATAT 81 ST AT 82
(A) 20 %

(B) 12.5 %

(C) 25 %

(D) 10 %




Q:-4. A sum of money doubles itself in 8 years. What is the rate of

interest?

ek 19T 8 ST # ST AT ST T AT 5| ST & 4T 82
(A) 20 %

(C) 25 %
(D) 10 %




Q:-5. Instead of multiplying a number by 0.72, a student multiplied it by

7.2. If his answer was 2592 more than the correct answer, then the

original number was -
Tk |EAT <Rl (.72 § TUT h{A o €A W Tk Torermeff 7 38 7.2 | o o
faem afe ot 3T, A IR A 2592 21fer AT AY "o weAt v oft?

(A) 400
(B) 420
(C) 500
(D) 560




Q:-5. Instead of multiplying a number by 0.72, a student multiplied it by

7.2. If his answer was 2592 more than the correct answer, then the

original number was -

Tk |EAT T .72 § O Sl o TATH TR ek Torarmeff 7 3@ 7.2 | o o
faem afe ot 3T, A IR A 2592 21fer AT AY "o weAt v oft?

(B) 420
(C) 500
(D) 560




Q:-6.Ifx(x+y+2z2)=9,y(x+y+z)=16 and z (x + y + z) = 144, then

what is x equal to?
'ﬂﬁ{x(x+y+z)=9,y(x+y+z)=163ﬁ'{z(x+y+z)=144%?ﬁ‘x?ﬁr

T T 82
A2
(A) 7=

9
(B) =




Q:-6.Ifx(x+y+2z2)=9,y(x+y+z)=16 and z (x + y + z) = 144, then

what is x equal to?
'ﬂﬁ{x(x+y+z)=9,y(x+y+z)=163ﬁ'{z(x+y+z)=144%?ﬁ‘x?ﬁr
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:-7. A person travelled by train for 1 hour at a speed of 50 kmph. He

then travelled by a taxi for 30 minutes at a speed of 32 kmph to complete

his journey. What is the average speed at which he travelled during the

journey?

Ueh A<k = ¥ & 50 TerHi/er. it oot & 1 9Ue ATAT <hi| Sk 918 36 ol
¥ 32 Torei/d. SRt =Imet / 30 forme amn oY Sut I st uw foRam arsr s
IR 38 fore eftee =iTet & I hi?

(A) 44 kmph/ TeRH1/E.

(B) 42 kmph/ Tervi/4.

(C) 41 kmph/ Terwit/e,

(D) 33 kmph/ Teri/E.




:-7. A person travelled by train for 1 hour at a speed of 50 kmph. He
then travelled by a taxi for 30 minutes at a speed of 32 kmph to complete

his journey. What is the average speed at which he travelled during the

journey?

Ueh STk A ¥ § 50 TerTi/er. hT oTet | 1 90 qTAT <hi| STk A18 39 ot

¥ 32 Toret/d. 1 aTer | 30 Toee amam Y U1 I oht oxn foram) I ok
SR 38 oRe ot =ITer & AT <1

(B) 42 kmph/ Tervi/4.
(C) 41 kmph/ feRH1/E.
(D) 33 kmph/ feRH1/E.




Q:-8. : A bag contains Rs. 102 in the form of rupee, 50 paise and 10 paise

coins in the ratio 3:4:10. The number of 10 paise coins is —

TH STH 102 . Th €I, 50 T AR 10 T FH HFehr 3 : 4 : 10 6 FATUTT
®Y T 1 10 U8 & Forarent 6t @mm 1 72

(A) 60
(B) 70

(C) 170
(D) 340
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Q:-9. A, B and C started a business by investing Rs.120000, Rs. 135000
and Rs. 150000 respectively. If the difference between the profit of A and
B is Rs.2100. Find the total profit?

3&T: A, B 3T C A SHAIT: 1,20000 TIF 135000 TG 3R 150000 TIX HT
ST h¥eh Teh ST & oh¥d 81 1S A 3R B o @TH o o<l oAl 3TeX

Rs.2100 3 TeT TTH AT hiioTd?
(A) 56700
(B) 63000
(C) 60000
(D) 56000
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B is Rs.2100. Find the total profit?
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Q:-10. Find the compound interest on Rs 8000 for 1(1/2) years

at 10% per annum interest being payable half — yearly ?

10% Tt Y, TRty STeaTiueh o, 1(1/2) T9 ok ToTT 8000 U WX TshaAfeg
ST T 2

(A) Rs. 1260

(B) Rs. 1951

(C) Rs. 1261

(D) Rs. 1600
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Q:-11. Ex: The simple and the compound interests on a sum of money

for 2 years are Rs.8400 and Rs.8652 respectively. Find the rate interest

Per annum.

34T:- 2 AT o ToTU 4ARTioT OX ATYROT AR <Akl SATS THAT: 8400 TUXA
3T 8652 T | UTd TN <hT = T ST &0

(A) 6 %
YRR
(C) 10 %
(D) 8 %




Q:-11. Ex: The simple and the compound interests on a sum of money

for 2 years are Rs.8400 and Rs.8652 respectively. Find the rate interest

Per annum.

34T:- 2 AT o ToTU 4ARTioT OX ATYROT AR <Akl SATS THAT: 8400 TUXA
3T 8652 T | UTd TN <hT = T ST &0

(B)S %
(GRUR
(D) 8 %




Q:-12. Three years ago, the average age of a family of 5 members was 17

years. A baby having been born, the average age of the family is the same

today. The present age of the baby is:
34T:- 19 AT Ugel, 5 A€l ATel YA kT STE AT 17 a9 off| Teh T=e

T I, TRAR 6T 3TTET AT AT T & 51 Tod hi TAHH T &:

(A) 1.5 years/EI'Gi‘
(B) 1 years/d¥
(O) 2 years/a'é‘
(D) 2.5 years/EI'Gi‘
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Q:-13The ratio of A to B is x: 8 and the ratio of B to C is 12: z. If the
ratio of A to Cis 2: 1, then what is the ratio of x: z?

ATTBH AU x: § TN BHTCH AU 12: 2B | AR AHKICH
FTUTA 2: 1 7, AT x: z T FTATA FAT 82

(A)4:3

(B) 3: 4
(C)2:3
(D) 3: 2
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Q:-14. The exterior angle of a regular polygon is one third of its interior
angle, the number of sides of polygon is -

T Tad TEHS T ATEARIT, 38k 3 HIUT T Ueh (313 0, 95T H
TTe ST TEATF -

(A) 2
(B) 4
(C)6
(D) 8










